ALY BRTERATANEFEORBLE2AR A XN RA

= < 7z — . e ek
wi | B a2 LR = FRER % = ar
ER#8| T2 P A B (H48a%)

LikEmare D10 wgme (10%)
dce x4y
2.RG M FH R Yy +y=tanx BB o (15%)
3LRAMEBIRER AR X +30'=0, y(1)=0,y'(1)=4. (10%)
4RA AR KGR RERENR y -3y +2y=¢", »(0)=1y'(0)=5 (15%)

3
5. K&EMR A=0

()}

3
6
1

BN

ZHBERBHEE - (10%)

<o
(o)

—

2
6. RERE A=|0 -1
21 0

2 RER A (10%)

[y

7. RO BEHKE (x,y, 2)=] 3xz, 2xy, yZ e B(-1,1, DR Z ()% B (O)HE - (10%)

8. & f(x, y, 2)=xy+yz) 35 pi(1 -2 )X MR RS B a=[1, 1, 117 dr ey 8k
(10%)

€ 40 F(x,y,2)=[y"-Ty, 2xy+2x], ¢ % B x+y*=1,% 4 (v* - Ty)dx + (2xy +20)dy (10%)

o




